Y LER
S eI
{ > 3 ’
[ 6]] 6] 6%
| ,’\\ |
| SREEE " 49 "9 4 ' §
L/
l R j -
e —— ,//3*43 _ o
c_ 12 ] 3
| | 8 /11
AN AN 19 18 17
[ )l / | : 6
$$‘$ I ;/]/ 20 ) _ . - 1
1 725 l 4 575

CELREAREERERIFEER
H30. 11. 7 $=1/50




T & (mm) BEEEHEOEZE (A) BRI K
No o A B oA ] B3 = #Kk & #K mEz HE= 1¢100M ¢200V¥8¢200 T e w =
(A) (kw) (kw) (kw) (kw) S =
1 BET DP—6900K-32 354 634 784 HE32Kg.,. mIhRT10¢g
2| s394 MSS1070 1070 460 | 1590 iy K4
3 | HEARE HRF—120AF3 1200 800 | 1910 50 0. 638 2EAE. 2EAE
4 | FABL Y (F34) 1200 750 800 15%x2 15x%x2 50x2 RS A 4%
5 | BRE (F34) 900 750 800 50 .
6 | frzs 1200 750 800 RS54 FEE 2@
7| avetr—7 MIC—5TC3 750 560 685 15 50 (fitz8) 5.9 O|eF |HwFniir2/3x58
8 | teerse RR—3082 466 438 424 15 5. 52 O 3FIRE. FEELH
9| 954%— MGF—C18K 430 610 800 15 8. 72 O | aF | 18L. mEHH
10| ArF—70 XY—12755T 1200 750 800 20 66. 3 O | eF |50, F8R/ 2
11| Es 430 890 800 2/3
12| B%5 1200 750 800 FEFvExy b
18] a—LKEF—IN RT—150SNF 1500 600 800 50 0. 150 434L
14| 1 HKRES v— NH—YG18 275 370 250 1. 29 1. 8L
15| ATELRBRERE SC—84SHD 350 450 | 1550 0. 418 BT 8K, £G4, EREEec
16| EEIIT NUTS1-—S 839 461 815 T4 3 R
17| VAILFETF—TN 1500 700 820 15 15 50 R
18| BREHE SD—113GSB 600 605 1385 15 50 (Mt#Y) %2 15 18. 5. 0 O 6035v%Y/H
19| #Y—L5—J) 1050 700 820 K3k
20| EBHESEEE MCSK—10—e 900 550 1900 4. 2 10HhTR#. HTRI&
21| BERAEE VF—K120X 600 500 | 1030 0. 183 NRy7y F7ER

C ELRRENRE R B RASER

H30. 11. 7

HERR 185 -YORELETRT,




©

w
550 «

J © I \\BEKEDA Bk b, -8
= o P
= <
I o EHEEI-‘H 97 4
|1 ==
| 16 ] J
N e ~ -$}
| > 3 5 .
— = b OA ik, d2 14
2,740 L 12 11 . 20 |
BT AGEIRE T LIS TIEG. KIS EKE0 A BRUE . -2 8 1
I~ ~
AN 19 1% 17|
| ' 4 3 6
& @ || FQL//
& 20 2
%% Ml [ 27 b Ly | Do
1
1.030 535 1,320 O\ 1.410 280

BKGB20AEITE, AEEES15AKST

:

{415

&@msc ABLE S, A-AEE3 4 7R

1.615

570

4 575

\%ﬁ?}&%%ZOA&ﬁ

A

3&{*3&2&&15Aﬁkﬁﬁzﬁ

g6 900

FaTK1S A BRIE b, ARRERIRH T LA SIS TS, ksl

C ELRRARBEFERERR

faHE/K e T

H30. 11. 7

$=1/50




5 A 20MER 3L -

_—— —— —

il EARY v o

f-A4EER

9

|

g

(o)

HAR20ARKI_E

ARBEEEAEOLHR D v 7 - 2E8E2 0 R

.F ISABRIT.E. A{HRERIEHEN lJ' 1

1725

1,030

1.760

6 900

C ELRREARERERERR
H AT
H30. 11. 7

S=1/50




‘u| » |

| F-—---l—==—=—-=I

_____"|I___'_-|

348200V0. 638KW, fEHh4PayybH=2100% ~ 4

- _ L - - - —(y 2
1.6 100V0. 418KWab4vb, H=1700 A {f 9 [m
; — ey
1% = BiJ ||
5

o
1100 1. 28K W P00 B GIz20pyty MR
) 16

1,630

— 3 | @
4
| | ®
16 ': -
\ P
. 5
= = 3.040 ~ 14 ‘
7 > 348200V5. OKW, fE#haPaytybH=1.6505h ~ 44
I
| 8 A0 |
|
RN 1
| \ N
|| ! \‘/ | 6 a
B | ff | 2 } 20 1 -
h | (——
P
VT ] e
/ a1/} as0 | 800 oy A8200V5. OKW, JE#4P1v0Y HH=600 ~ 4
16100V 0. 13KW, $E383P2 D12Vt bH=1,2005 <4 /
348200V4, 2K, fEHbAPaA 21005 bt /] 1 725 4 575
— > (—] = =l —r—
65&) ;&%ﬁﬂ)ﬂm{%ﬁl:ﬁﬁ%ﬁg{ﬁ

BRI

el:, H30. 11. 7 S=1/50




X& T — FETFim~ti&(ZH=1,900& 9 5,
J— RABIZT VR D4 L3 —{FET 5B,
J—FRCXTIVRTaNE—THLET B,

1 (4
’ i ‘ﬁ
! |
=——= Ba g
. b‘ : ©|
’ = A$|
e ﬁ]ﬁz_zm 900 -
i
/1
| - S
AT AT =
[ | 6
| 20 L= | .
e 1 |7 ~ 7
— = I 1
1.045 [ 950 ] 900
1725 4 575 200
|
6 500 <

C ELRBRENR B ER R
77— FuER
H30. 11. 7 S=1/50




